1. A8 a9 3
; s % fapg fret ® fooma 2 2

(1) TeXTE

(2) wgETg

(3)

(4) T8 (Ymq)

(5) Wqﬁhm

(1) * 1968
(2) 1965
(3) 1966
(4) 1967
(5) 3 & e

3. & ¥ y9aH AT B 8 2

(1) =T TS

(2) TSfd AT
(3) Aad fepsm 3aTe
(4) “an 9t

() e @ &1 9TEd

dﬁﬂﬁﬂmﬁagﬁm(m)
guffa ® |
(n {rﬁaﬂmaﬁasﬁ

(o) e sunie]

(3)  T® T TEE

@ e s FEE

5) e € 3 =
zhaon m@mﬁﬁ“%
1) 71°28' ® 77°36’

~0°28' & 77°36'
74°27'8" & 77°36'5"
77028 | 84°38
et =& A =TEd
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£ = #

Nahar Wildlife Sanctuary is situated in which

district of Haryana ?
(1) Mahendragarh
(2) Faridabad

(3) Rewari

(4) Nuh (Mewat)
(5) Not attempted

When was the
Commission established ?
(1) 1968

(2) 1965

(3) 1966

(4) 1967

(5) Not attempted

Haryana Public

Who is the first Lokayukta of Haryana ?
(1) Babu Parmanand
(2) Ranjeet Kumar
(3) Nawal Kishore Agarwal
(4) Pritam Pal
(5) Not attempted

Panjokhra Sahib Gurudwara (Ambala)
dedicated to the memory of :

(1) Guru Sri Harkishan Sahib ji

(2) Guru Hargobind
(3) Guru Tegh Bahadur

(4) Guru Gobind Singh

(5) Not attempted

The East Jongitude extent of Haryana1s:

(1) 71°28'to 77°36'
70°28' to 77°36’

(2)
to 77036/5::

3 T427¥
77098 t0 84738

Not attempted

Service

is




10.

R anfdfe wdam (2021
F fhax I9-Hwmr {2
1 74

(2) 23

3) 82

4 92

(5) I T A ="

B ¥ Tslied ed [a1 del I ot qen fhah

22) & U ghamm §

© L

2?

(1) 20,552

2) 16,552

(3) 17,552

4) 18,552

(5) I TE <A1 IR

o<z a¥ 2022 - 23 % R T S5 § FHW F &
T =7 % AU g soe # e wfowd e foean
™R ?

(1) 98%
2 62%
@) 57%
(4) 43%

(5) I T & =
1= FEEm (2020 - 21) % AR ghamn A fd
(1) ¥ 2,35,707
(2) % 1,85,630
(3) % 1,90,950
(4) 7 2,90,630
(5) T T 7 A
oA 4 “Gh g, 94 dgien” &1 quny feask
HulcTiRicily
(1) #1379 =iz
(2) 90z 91
(3) ot gATEt ATA @
(4) ot Fam faz e
(5) I AE e 9rEd

ARAM/C3/Page 3

10.

TF &1 & U T9™ | SPACE FOR ROUGH WORK

i in

How many Sub-Treasuries are there "
i

Haryana according to the Haryana Econom

Survey (2021 — 22)?
(1 174
(2) 23
(3) 82
(4) 92
(5) Not attempted

What is the total number of registered Atal
Service Centres in Haryana ?

(1) 20,552
(2) 16,552
(3) 17,552
(4) 18,552

(5) Not attempted

What percentage of its total expenditure has
been allocated towards Agriculture in Haryana
State Budget for the financial year 2022 — 2023 ?

1) 98%
(2) 62%
3) 57%
4) 43%
(5) Not attempted

What is the per-capita annual income of Haryana
as per Economic Survey (2020 — 21) ?

(1) 7 2,35,707
(2) ¥ 1,85,630
(3) ¥ 1,90,950
(4) ¥ 290,630
(5) Not attempted

“Beti Bachao, Beti Padhao” was launched in
Panipat by

(1)  Shri Ram Nath Kovind

(2)  Shri Narendra Modi

(3)  Shri Manohar Lal Khattar
(4) Shri Kaptan Singh Solanki
o) Tiovatiempted




Social Security Allowance Scheme” -

. "eecht ammfirn guan s ey A 11. “Ladli

(D 1598, 2006 launched on :
(2) 159, 2005 (1) 18t January, 2006

15t January, 2005

@) 17, 2006 (2)
4) 19, 2005 (3) 15t March, 2006
(5) I & 21 wmER (4) 1%t March, 2005

12 =femn § gfafie wiéf ) vga  frear % fro 1023 (5) Not attempted

bl o ;
BIA-UEH & wy fieet e e o € [12. Who founded the ‘Zamindar League’ along wiyy
TATYAT Y 2 ‘ Fazl-i-Hussain in 1923 to spread the reach of t,

Unionist Party in Haryana ?

(1)  37sge TFBR @H
(1) Abdul Ghaffar Khan

(2) T garm
(8) gfed IHrog wmt (2) Rao Tularam
4) WA (3) Pandit Nekiram Sharma
(5) 3 E 3 wEY (4)  Sir Chhotu Ram
(5) Not attempted
13. gfig w@s aeiieR I ot gaw sr@E yenw § : "
FRTN TS __ =9 geifug R 2 13. The famous writer Dharnidhar in his book
1) s ' , Akhilan: Prakash addressed the State of Haryanz
with the word
(2) P STA | (1) Aryana
(3) R (2) Kuru Jangal
(4) e (3) Haritanak
(5) IR &l T =R (4) Haribanka
! (5) Not at
14. zhamn § yafvd ‘@fenr’ g 7@ §9 #1 mEe et
TIE@ ¥9 3 forg a7aEt W foRaT ST R 2 14.  On which occasion is ‘Khoriya’, the famous d&*
(1) @ e i ' form of Haryana most commonly performed ’
2) Bt F w@En W (1) Inthe month of Saawan
(2) During Holi
(3) &= % FH W sy
: (3) On child birth
(4) fodTE & IFaE T . _
: 3 (4) On the occasion of marriage
6) IR (5) Not attempted
) qm 3
15. =R 1 F-a foe g ( T T ) 15. Which district is famous for ‘Surahi’ & she?
¥ fou yfeg 2 2 necked pitcher) in Haryana ?
(1) WdgEms (1) Fatehabad
(2) TRIA™ (2) Gurugram
(3) w@rEl (3) Rewari
(4) w1 (4) Jhajjar
(5) I A& & ATEd (5) Not attempted
ARAMIC3/Page 4 T @ & feru TeT | SPACE FOR ROUGH WORK



16.

qdeH H WHN AT - WG Rew, sRawn ¥ frg

16. Morni Hills, a tourist attraction point, is situated
3 3 g % 9 in which district of Hawana 2
(1 w6 el (1)  Charkhi Dadri
) W (2) - P.zlnchkqla
@ R (3) Jind
5 (4) Ambala
(@ (5) Not att ted
. ot attempte
(5) IR & 7 |
B 5 E 17. Where is the Rajiv Gandhi Renewable Energy
ol T e el QT% A et e 2 2 - Park situated in Haryana ?
) (1)  Sonipat
U‘Z_) | (2) Panipat
3) II' oI (3)  Gurugram
4) wieEr (4) Faridabad
(3) I TE 1 =W (5) Not attempted
18. wRamm & smraeh € TRTTSa T g S A R 18.  The highest elevated area of the Aravalli hills in
(1) #am 4 wErfat (o feew) Haryana is '
2) el A e (e feew) (1) Mewat Hills
t 2 . .
) =z I (% ) ES; E:"S:;ﬂls
y roh Peak
@) fown i varfeat (R fiew) ' N
5 & (4) Tipra Hills
S e (5) Not attempted
18. e’@‘”ﬁﬁ’{ﬁ*ﬂi%wmﬁ%m '
i B 19. What percentage of the total land in Haryana
N comes und iculture ?
i A er agriculture
(1) 81%
(2) 70%
(2) 70%
(3) 76%
) 3) 76%
4) 7% @ 779
(5) o T T =y -
(5)  Not attempted
20. ZfEmm Ty F yEe TR A
Q‘ ‘ Tr‘\q % T ( ) 1 T 20. The first Grain ATM (Annapurti) of Haryana
e foret 4 ig ? State has been set up in which district ?
(1) =gen (1) Panchkula
2) =i (2)  Sonipat
@) TEm (3)  Gurugram
(4) g (4)  Yamunanagar
(5) I & 2 =meA (5) Not attempted
ARAM/C3/Page 5
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N

. f Haryana is a]g, kn
Seme 2 1. Which dance form o ’
ot fger’ & =m @ oft | 2
21, &R & Y g1 w9 ) ghamr

"y,
‘Haryanavi Gidda’ ? )
SICIAS I (1) Ratwai )
(1) Wais (2) Swang
(2)  wam _ (3) Gugga
&) Tm (4)  Jhumar
) R : (5) Not attempted
(5)  IW T éqT W'&'ﬁ 22, Who among the following is known as
22. TR QAW ‘ghamn e % T A o ¥ o ‘Haryana Hurricane’ ? |
D w3 (1)  Kapil Dev
(2)  HE e - (2) Mansoor Ali
(3) Touig fig , (3)  Vijender Singh
4) g $R (4)  Sushil Kumar
(5) IW T T =TEd ) (5) Not attempted
23. FEM @ oW Th [BLE RISRIECE B fra we & 23. Nirmal Gulia from Haryana is associated wit
2 which sport ?
(1) deste (1) Handball
2 = . 2) Hockey
3) ey ot (3) Gymnastics .
@ @ _ 4 Judo
(é) I T 3 (5) Not attempted
24. Frfefas § 3 sh@mm % fng =RE Y WA 1t |24.  Who among the following personalities fior
% 2§ 2022 % w1 oY m T T 9 Haryana receiveq the Padma Shri in 2092 the
- field of Social Work ?
(1) Tgdg daw
s (1)  Raghuvendra Tanwar
@ a}a i (2)  Moti Lal‘Madan
®) A= = ) (3) Neeraj Chopra
(4)  =Am eI e (4)  Om Prakash Gandhi
(5) I FE 0 = (5) . Not attempted
25. T A 1 AR @ e § = L g 25. Gugga Naumji festival ig celebrated all ov¢
2 Haryana in —— e
(1) ®TH % =gum # (1) the lunar month of Phalgyn
(2)  =Ifd* % dgu™ 4 (2)  the lunay month of Kartjk
(3) W % =gumE |

3)  the lunar month of Bhadon

(4)  the lunay month of Shrayan
(5) Not attempteq
% T ¥ %'Q TUTH /| SPACE FOR ROUGH WORK

(@) AW % e i
(5) I & &1 =red
ARAM/C3/Page 6
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96. Rearrange the following parts of a sentence | Read the following passage carefully and answer
labelled as PQRS to make a meaningful questions 29, 30 and 31.

sentence. Street theatre in India is a well-established

> or otk 1s a blessing and _ _ ' .
De om0 Won ) ancient art form. Despite the proliferation of

Q. let us realize that the privilege modern  means  of  entertainment  and
R.  the love of work is success communication, street theatre continues to
S.  toworkis a gift, the flourish in India.

(1) QRPS Street theatre as a channel of communication has
@) SRPQ for centuries been propagating reforms by

highlighting social, economic and political issues
present in the society. Unlike in the olden days,
1) PSRQ its performance is no longer restricted to villages
(5) Not attempted or small localities of the city. They create or raise
awareness over a particular issue of public
27. Choose the correct passive voice form of the importance. '

() QSPR

following sentence.
29. In olden days, street theatre villages

. or small localities of the city.
(1) He requests you to bring a cup of coffee. 1)

Bring a cup of coffee.

entertained
(2) You are requested to bring a cup of coffee. ' (2) was restricted to
(3) Let a cup of coffee was brought. 4 (3) was not restricted to
(4)  Let a cup of coffee be brought. (4) was opened to
(5) Not attempted : . (6) Not attempted

28.  Pick out the part of the following sentence which [30. Modern means of entertainment and |

has an error. If there is no error, your answer is communication ___ street theatre.
(4). (1) helps establish
One of the state in which ' @  fdes aftort
A (3) does not affect
Satyagraha was offered was Rajkot (4) helps popularise
B (5) Not attempted
where he spent his youth. ‘ .
C 31. Street theatre usually wRE =
public importance.
(} ) B (1) does not deal
@ c (2) is distanced
3) A (3) is performed
(4)  No error (4) deals I
4 ttempted T
: (5)  Not attempted ML’U/——*/
ROUGH WORK
ARAM/C3/Page 7 TF & o feT0 ¥ | SPACE FOR




32, Choose the correct alternative to improve the |86, Pick out the correctly spelt word.

underlined part of the following sentence. 1f y, (1) nuisence
improvement is required, your answer is (4), (2) privelege
Don’t judge each day by the harvest you reap by

. (3) familiar
by the seeds that ave planting. (4.,) o
it usu
(1) that you plant A
(2)  that will be plant (56) Not attemp
(3)  when you plant
(4} No improvement 37.  Pick out the antonym of the underlineq Worg
() Not attempted the following sentence.
. ) ; m e o .
33. Fill in the blank with the suitable Preposition. Alittle learning is a dangerous thing,
; o 1) smooth
The boy red hair js my brother, §2; )
(1) from %) innocuous
(2) of (3) devilish
(3) for (4) plain
(4) with

(5) Not attempted
(5)  Not attempted

38. Pi : .
34. I; the f}i)u(;lwmg sentence, a word is ﬁnderlined. lt)}l:;kf((:llllsv:i}:g Z};::Z::Z :0 Fthe undertned w
eneath the sentence, four differe .
phrasing the underlineg - arjtmvgg:tezf_‘ '(I‘I};e Chllfilozid for the mother’s love.
Choose the best alternative among the four. rethse
“Despite losing a lot, of money in the stock market, i, e
crash, Suresh remained unphased.” (3 shouted
(1) unfizzled ‘ @ fell
(2)  unfazed ‘ - (5)  Not attempted
(3) unfaced
( cf) unphazed 39. Pick out the correctly spelt word.
(5) Not attempted (1)  intitutionalize
35. Find out the correct indirect speech of the (2f) intutionalize
following sentence. (3) institutionalize
She said to her father, “Will you give me (4)  instutionalice
sweets” ? (5)  Not attempted
(1) She has asked her father if he would give
her sweets. 40.  Pick out the correctly spelt word.
(2)  She requested her father to give her sweets. (1) suggession
(3) She requested her father if she would give (2)  sugestion
her sweets. (3) suggestion
(%) She asked her father if he would give her (4) suggesstion
REC. (6) Not attempted
(5) Not attempted ‘
ARAM/C3/Page 8 1% & % foTe ¥ | SPACE FOR ROUGH WORK
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A1 wwe’ & R waifues sws wataard) wsg @ g (46, Fefafaa feed @ @ gem % qifer famen

REEIE |
ESIRI #ifsm
(1 YR (1) W:é’%ﬂﬂ, m,m
@ el (2) 3 = Tral, Wz, gam
3) ¥l T
(4) WS
@) = srpell, wrars, Rrar
(5) IW T @ 0w

(5) I T 1 =med

42, Frefen 7o § ¥ ST g 1 = R |

46. Wumfa @ ¥ a3
(1) IR 3R ISTe T — IRy

fere. TR w1z, 1 watfirr Jwges faeim ez g |
2) 3= H aw F F 9 — sfpafg (1) W&R
(3) AW T=OI W FW P AW — ToSEEY @) =
W '(3) g
(4) Y9 & T Hi 4 — I (4) we
(5) I AR | (5) I & ¥ =E

o AL DRI =, freferfien & & B v wifem 78 3 2

e (1) woE

(1) =& i

(2) Fa

(3) e S 3;;

(4) aEafTH 4)

(5) I 7@ 2 wrEq (5) I TE & =

44. ‘qmF THE 92 1 3fad fave & 48, ‘Tew H s w2

1

(1) g ufE S

(2) W ufw @ ¥
(3) forn

(3) wfth % IR -

4) qhufea o -

(5) IR T <A AEd

RK
ARAM/C3/Page 9 % % % foTu T | SPACE FOR ROUGH WO
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..
; 53. frafufga & & fra feea & R 3 X
49, RO Y SRR TH | . SR iy
39 Ierew gafera 77 # 2
S (1) v — guaa W ded i,
(1) W FHHS 3 ok safirr), = | ™
¢ HaATHES ATURV T .
@ 59 - (2) WERET — den wEmEn B oge s
(3) YN Harhie HHR ) anfvat e ¢ g
AT FHHTH AU AR
@) . 3) ®TH  — “fe oRam g g
(5) I A SR YeEl- AT 3 |
- faen & =i faweft &1
50. SSESHI, GWIHI AN WIEET wsdi # fran % wA-A Yeret <t eTelt < 11
TR H °1g H T R T R 2 (4) 3T — e ua wfEm 1= gl
(1) S Oy , ‘ (5) WA & e
2) ¥IE ug
@®) ST =g 54, ‘PR spie Rwa § onft amw 2 1 9 # it
(4) T ag &8 T ITE T8 HINT |
(5) I TR AT AEQ (1) g, acem iR fsht suert
(2) dgHa 9T
51, ‘o= oA B #0099 fafem g wa (3)- oEw g
- T TR F g9t 9w 1Y §aTsy | @ e gt
1) wEm diq IR WSS ISa _ P a—
(2) ZEm H =Ad 4 AW S .
(3) Tfem=wi=aA LSl _
” aﬁ@ag?:ln 55. form-fas 6 gfd @ yg ae =1 === His |
_ s - 1 " e S, e R, sewa T TS
(5) S &l &A1 =T fra w2 |
2 70 I, S w Afgwr 2, sTewd T IS
52. ﬁqﬁ%&f@aﬁmﬁﬁﬁw%ﬁwwaﬁmﬁg | C RE W@
(1) = ®) W e N wew AfgwT }, st gES 0@
2) % WR '
(3) @M @ A i N o, Afgwr 2, sroma @ TP
(4) =@ fora @ 2
(5) IR A ZA A (5) I A [ wEd
ARAM/C3/Page 10 & @4 & fere T | SPACE FOR ROUGH WORK
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6. 7wl & wiq 9 s fau e ® | wnerd: @
" el @ s 813 gu ot Al ) as qEd §Q!¥Bﬁvh
Hifo fa HT%EF\&TI q -9 fsed Qo o gmor)

A PReaa/Mea 2 1
FU7:  $9 A Pl | "o &
' $© PRl e ? | Bk
wft gom e @ |

FEY: (D FOFWATE |
ID 35 +W FREATS | =
D F3 gom HRiEf § |

(D %97 II Freverar |

(2) S IR I fyperd § |

(3)  Had I3fR II ey § |

4 %ﬁanaﬁ(mﬁwﬁy

(8)  IW & 1 =Ry

57. ﬁnﬁaﬁ%gaﬁ%ﬁq-mﬁa% ?
(1) 9,18,27
2 69,18
(3) 7,14, 21

(4) 8,16, 24

(5) ST & ey

58. @?ﬂl’aﬁaﬁxm 5

ARAMIC3/Page 15

N T4 % foro o / SPACE FOR ROUGH WORK

=0 197

56.

57.

58.

Three statements are followed by three

conclusions. Take the statements to be true even
if they seem to be at variance from the commonly

known facts. Decide which of the given

conclusions logically follow(s) from the given
statements.

Statements : Some tables are chairs.
Some chairs are beds.
All beds are rooms.

Conclusions - ¢)) Some rooms are tables.

(II)  Some rooms are chairs.

(III)  Some beds are chairs.
(1) Only1r follows.

(2)  Only I and TIT follo.
3) Only I and II follow.
(4) Only IT and 111 follow.
(5) Not attempted

Find the 6dd one out.

(1) 9,18, 27

(2) 6,9, 18

3) 7,14,21

4 8,16, 24

(5) - Not attempteq

Pointing out to g lady, Raja said,
daughter of the woman who is the m
husband of my mother”. Who is the la
(1) Sister

(2)  Aunt

“She is the
other of the
dy to Raja ?

(3)  Daughter
(4)  Sister-in-law

(6)  Not attempted




59. FrafaRea woft § arar of 9% dem e fag mo @
B 10} \ X| P  M|R|S|T
weRR | 1| 2 | 4| 7T |9 [38]5
g W' ud o @ s Pafafea § @ e
f®eq "EMRS' &1 Ul §eog €9 2 |
(1 1937
(% 1793
3) 1973
4) 1925
(5) IR TSI AT =TEd

60. T s9 I9@® P’ A ‘Q TIAW T 5 IJA-IAT & &

SR Y FHEAT ? | 98 ‘Q ¥ ‘R’ T 3 IT-IH & A
R Y S TF 2 AT-IAT & F a1 A JHAT = | T8
PR S IF Thad B H TR T S(HAT B ?

1) 16

2 10

(3) 20

(4) 30

TR & 1 =Ted

61, == fom mu we % AU H SET FH
=15 75z 1 I HINT |

CONSOLIDATE

DETAIL

NASAL

LOCAL

LENTIL

(5)

FATT S TR

62. 7 FRH

59.

62.

60.

61.

.

I‘Jetters and their number codes are
following table :

given ip the

Letter

You have to find out which of the alternative
has the correct coded form of ‘EMRS’. ;

(1) 1937
(2) 1793
(3) 1973
(4) 1925
(56) Not attempted

A bus driver knows five different routes from a
place ‘P’ to ‘Q. From ‘Q to R’ he knows three
different routes and from ‘R’ to ‘S’ he knows two
different routes. How many routes does he know
from ‘P’ to S’ ?

(1 16
(2) 10
3) 20
4) 30
(5) Not attempted

Find out the word which can be formed by using
the letters of the given word.

CONSOLIDATE
(1) DETAIL
(2) NASAL
(3) - LOCAL
(4) LENTIL
(5) Not attempted

If MANGO is coded as 13114715 in a certain code

o ihat
language, then how will FIGHT be coded in tha

295 e Al 2, 1 3E F2 same code language ?
L~ 2 9
b e ot AT 7 (1) 697620
ST 3 TS 96819
(1) 697620 2 6
‘ . 216G
(o) 696819 (3) 697819
2 C 7 \2()
(5, 697819 (4) 6978
Y o820 (5) Notattempted ——
(4) e ’ . - AN
' 5 5 21 AEA = _ z E FOR ROUGH WORK
(5) {JH.J 471 Al m 1 mfmtd{'z"/SPAc 61,,’33\\
i e 12 @
ARAMIC3/PEYE f \ 3 Token
® (\ [EERS DL("‘PL| ¢ °
B s ) AW N 15
gii!, rQi ) 25 25




¥ g G H A Ao fraes argar a1 ol
pafeud fRY SR A U w1sls eq S A U
NTEROM
1 2 345 6

63.

1) 6,5,4,3,2,1

2 2,5,6,3,1,4
3 6,3.2,1,4,5
4 6,3.1,2/5,4 negwvTo

IR T & TR

frefied 8 & ®H-a1 9g fm 3 2
ZERO

CARE

PALE

STAR

(5) IR TE T A=

T e fompew 1 = Hifm fred den o8 iR 0
¥ 3 N ged @ S R g o e w
Tafa %

9T AW - foaeht <0
s

He® Fl =

(5)

(1)
2)
3)
4)
(5)

ARET

EE|
IR TR &A1 W=

@@Wwwﬁﬁqﬁﬁw%awﬁ

Al B2 s C3 D4

66.

D) Gz Hyg: 11 dpg
P16Q17: RygSig

Mj; Nyy: 03Py

(2)
(,3)
(4)

63.

64.

(5) I 441 291 =req

65.

66.

Select, the combination of numbers so that the

letters arranged accordingly will form 4

meaningful word :
NTEZROM
1 2 34 5 6
(1)
(2)
(3)
(4)
(5)

6,5,4,3,2,1
2,5,6,3,1,4
6,3,2,1,4,5
6,3,1,2,5,4
Not attempted

Find the odd one out.
(1) ZERO

(2) CARE

(3) PALE

(4) STAR

(56) Not attempted

Choose the correct alternative which is related to
the third term in the same way as the second
term is related to the first term :

Sheep : Lamb : : Butterfly : ?
Nymph
Tadpole

Larva

1)
(2)
(3)
(4)
(6))

Caterpillar
Not attempted

Choose the correct option in which two terms of
the pair are related in the same way as in the
pair given below :

A1 B2 5 C3 D4
Gis Hyg: 1y7d1g

Wi Xg: Yy Zg

P16 Qu7: Ryg Sig
Mj; Nyp: O3 Py
Not attempted

(1)
(2)

ARAMIC3/Page 13
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67. 9 =Ry v e & |
éngﬁwﬁﬁwﬁmﬁaﬁtﬁﬂm%@
a1y Q a‘ﬁm*wmwma.ww%
%u’?éaﬁ@@ww‘ﬁ“h?ﬁmm

b 1 T A R | gt & ar w A3 F 9
(1) U 3R amy
(2) FH R qrn
C R o S e—
(4) Y 3R 9T
(5)  IW T &1 =R

68. & v el e w@ w1 QU wQ F, @
(1) A6 T T&H d g T W YA T At
R Ssl
(2) 9 il & 91y SAg o |
(3) fosTen 3 e s A TEe # W

AT | _
(4) I A1 IR T @ Sfiaq 8 Faua H AA]
B ’
(5) IR S & =R

69. ﬁﬁ%ﬁiﬁﬁé@ﬂj@wﬁm%ﬁ(?)%@mm

PH-L T AT ?
99, 80, 63, _? ,35,24,15,8,3,0
3 1 L4 1 5 2
(1) 42
(2) 38
(3) 58
(4) 48
(5) I A &A1 =Ed
70. ﬁq%f@ﬁé@msj@mﬁwﬁag?)%me

Fa-d T Qi ?
14, 19, 35,59, _2_, 179, 299

67.

68.

69.

70.

‘

Five persons are sitting in a row facing N,

Sunita is sitting to the immediate I’ightn‘
Pankaj. Kamal is sitting next to Raja wh
sitting on the extreme left and Tara is not Sittir\‘
next to Kamal. Who are sitting adjacep =

Sunita ?

(1) Raja and Tara

(2) Kamal and Tara
(3) Pankaj and Kamal
(4) Pankaj and Tara
(5) Not attempted

When you visit any historical place, you try to:

(1) just pass time moving from one place |
another.

(2) just enjoy with your friends.

(3) explore the cultural or social aspect of t!
design.

(4) take pictures and enjoy a break from
monotonous life.

(5) Not attempted

What will come in place df the question mark
in the following number series ?

.99, 80, 63, _? ,35,24,15,8,3,0
1) 42

(2) 38
(3) 58
(4) 48

(5) Not attempted

What will come in place of the question mark (’
in the following numerical series ?

14,19, 35,59, _2 , 179, 299

(1 129
(2) 131
(3) 130
(4) 132

(6) Not attempted

(1 129

(2) 131

(3) 130

(4) 132

(5) I AH g S
-
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v

@Waﬂéuésaﬁﬁﬁwﬁﬁaﬁasm-wémw 71.
9
?j%ia%aanag%aﬁ@%ﬁwém%ﬂﬁ
qu1 S 1 AAS Bl FGIT D |
TG T8 W qN AT I BT U el @ |
(© ¥&FD N A s () &y qrn e §
ﬁmmﬁéuﬁﬁmwwsﬁﬁq:
(1 Fad (c)
\2\\ (a) @1 (b)
3 (b)) (e)
4) 99 (a)
(5) I T I R
72, Hls g 3%e ¥ 9 Wi el R ok v 5 Fehe A
23%@;&@%@%@3@@%#&@1
Bt 2 72.
(1) 6T vfd Ashe
@) 3 v Y
3) 4+ ¥ Asks
@) 5 i I
(3) SRIFTM =R
7. o SN e, 2022 Fremamg Fm d 0 |
V) R e @ 30 : s e 3 R A |
T
@) “ﬁaﬁmfa@aszaﬁsmmm%m.
afes wgam” "
(3) ﬁﬁf@ﬁﬁ%m&w%mqﬁwm
4) “Hif S @ 35 - geeft W Sfe wem %
fore 3fes maem”
(5) =0 7 o =
. ™ 44 i w HrTRg) — w ufef ye
WWWWWWWW 74,
feu |
(V) 7P 32 i isrrien diie
@) 7R S g i i
) # gt s i
) T 3 giafyr il diga-a
(6) 39 7 &1 v
ARA'\'VCS/Page 15 - 3 e s
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Which of the following statements is/are correct

about Apical Meristem ?

(a) It is present at the growing tips of stems
and roots and increases the length of the
stem and the root.

(b) Due to this the girth of the stem or root
' increases.

(¢) It is seen in some plants and located near
the node.

Choose the correct option from the codes given
below :

(1) Only (c)

(2) (a) and (b)

(3) (b)and (c)

(4) Only (a)

(5) Not attempted

An object travels 9 metres in 3 seconds and then
another 23 metres in 5 seconds. What is the
average speed of the object ?

(1) 6ms .
(2) 3m/s ' 3, )
3) 4ms

4) 5m/s

(5) Not attempted

What is the theme of the ‘World Ozone Day’,
2022 ?

(1) “Delhi Protocol @ 30 : Protection of Life
through Global Cooperation”

(2)  “Rio Protocol @ 36 : Global Cooperation for
Protection of 0zone”

(3) “Montreal Protocol for Protection of
Ecology”

(4) “Montreal Protocol @ 35 Global
Cooperation Protecting Life on Earth”

(5) Not attempted

HTTPS is an acronym for __, which should

be used while entering sensitive information.

(1)  Hyper Text Transfer Protocol Sequence

(2) Hyper Text Transfer Protocol Secure

(é) Hyper Text Transmission Protocol Secure

(4) Hyper  Text Protocol
Sequence

~ (5) Not attempted

Transmission




75. S¥ 1960 ¥ e R WERIY AW Q AU U

T FA & forg Faferfea d & fva asa ) @ wm
N e T o ?

(1) R
(2) s
(3) AFHJETQ
@ A

I TE AT TR

)

76. fr=fofed 3w & ¥, wRenedl w1 wagw 1 R 37
e ifad AW B o1 ? '

TSl WS

-

RICaSIE

(4) Afegs ‘
(5) IO A =

Q
(2)

3)

~1
~1
.

g TR U (S.TR.IMW.) T Fras @ W
AT R 2

a1 faa ST ,
9T 3 T it wEwEn wEs
i o o
FaaEE gg1 S

Fer T AT =ed

@
2)
3)
4)
(5)

ﬁw%r%ﬁﬁﬁ%a%ﬁﬁ‘wmﬁm”%
va\zomﬁmxmmﬁmg?

78.

(1) g
(2) qud
(3) =

(4) “EAAE

(5) zw7 A#] ZA1 ATEd

75. Which among the following States in 19g y
i

76.

77.

78.

N

N

bifurcated to create two new States of G‘ljar“
and Maharashtra ?

(1) Nagpur

(2) Bombay

(3) Ahmedabad
(4) Daman

(5) Not attempted

Among the following countries, which was t;

last country to give voting rights to women ?

(1) Saudi Arabia
(2) China

(3) Pakistan

(4) Mexico

(5) Not attempted

With whom is the Cash Reserve Ratio (CR
kept ?

(1) Finance Commission of India

(2) Comptroller and Auditor General of India
(3) Reserve Bank of India |

(4) International Monetary Fund

(5) Not attempted

Which among the following countries ranked ©

highest on the “Ease of Doing Business” Index’
2021 ?

(1) Portugal
(2) India
(3) China

(4)
(5)

New Zealand

Not attempted

—
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e

79.

81.

82,

wgﬁqmwﬁeﬁmg%mmmwéiﬁﬁ
ﬁﬁgﬁ@@ﬁﬂﬁwiiﬁ(miﬁmﬁqmm
Feh areeTl-seeht @ wefifa @ ¢

gy (%)

ISSENERIT

gAaNis |id

T e

IW @ AT 9

el
2)
3
4)

5)

frefafed & § SH-a1 Yook swwor 2§32 § Tasy
T (Tgw) FepTerr @ R 5w Al § Y @ fn
maﬁﬁﬁmmaﬁtmﬁuﬁamﬁaﬁ
e Yo @ 2 '

(1) e
(2) ==
3 fa=
@ '
(5) I A &1 =mEa

ﬁ%ﬁ%ﬁmﬁmﬁﬁqn@mﬁm
Wﬁmmw(w)%maﬁ‘ﬁ?
@ WW%@WWW

2) émﬁaan@m%ﬁwﬁaw

@) 5 i, $9re fiex, e
(4)

(5)

e ————

79.

80.

81.

82.

(1)

What is the name of the sorting method that
refers to sorting a given list of clements and
swapping them if they are unordered ?

(1)
2)
3)
4)
(5)

Deque
Selection Sort
Insertion Sort
Bubble Sort
Not attempted

Which of the following network device extracts
the destination address from the data packet and
looks it up in a table to see where to send the

packet and sends signals only to selected
devices ?

(1) Gateway

(2) Hub

(3) Switch

(4) Router

(5) th attempted

Which of the following options lists all devices
used for output from a computer ?

Flat panel display, Plotter, Barcode scanner

(2) Laser printer, Optical character reader.
Plotter

(8) Laser printer, Inkjet printer, Scanner

(4) LED display monitor, Inkjet printer, Plotter

(5) Not attempted

Which of the following lakes is the result of
tectonic activity ?

(1)  Kolleru Lake
(2) Sambhar Lake
(3) Chilika Lake
(4)  Wular Lake
(6) Not attempted

% @14 & foru vum | SPACE FOR ROUGH WORK




1 83, fnafafaa 3 Q@ WA wsg wndla fauig &1 |83, Which of the following word/s was/were addeq
A A 408 SUd g 1976 3 W 9 the Preamble of the Indian Constitution ip 19;0 |
. through the 424 Amendment ? |
a)d ISR IS I
. (a)  Socialist
D W e-gud .
= (b)  Sovereign

D AISHAITHD -
% e (¢)  Democratic

) Wﬁ-{a\“ﬂ (d)

Secular
M2 Ru g g2 @ gd fQsey &1 @ad Hif, ' Choose the correct option from the codes giye,
1 @) adt (d) below :

(1) (a)and(d)

(2) Only (b)

(3) (a)and (c)

(4) (c)and (b)

(6) Not attempted

SHad (O
a) Nl ()
4 .c) 9T (b)

971}

84, Tim TEE ¥ wiwensti w1 wew wfufEm, 2005 %

84. Which among the following statements is not

=+ 3, fa=fafea # @ «F-a1 s @&l 787 2 2 correct with regard to the Protection of Women
1 =z sty A s = m%m F1 TF THFR from Domestic Violence Act, 2005 ?
TEaT 2 | , (1) Sexual abuse is considered a form of
o == I — domestic violence under the Act.
2Z) <z Hiﬁlﬁqq HI%EII Qllflliiﬁ HII\EEF,
5 ’ ' (2) - The Act protects women from both physical
ST 2T ° T
< g 2 and verbal abuse.
3) F& AHFEY I- .IEI' taTfes I.il T HET T (3) The Act does not extend to ‘live-in’
777 -39 wadl i FHH TR0 TE <@ | relationships and only covers marital
(4) Tz wTufEm onfde WMww $ W fTE F1 T households.
THE HEAT 2 | . (4) Economic abuse is considered a form of

' & domestic violence under the Act.
(5) IO FE ZA AT :
(5) Not attempted

®5. STIZ FEIT HISA (va. A1) e T % 85. Where was the 20th meeting of

AfTTF #1237 ’ 2022 %1 & Prosecutors-General of the Shanghai
2041 az% F2 Avnfaa £ s A ? Cooperation Organisation (SCO) Member States
JTATA] held on 234 September, 2022 ?
; (1) Astana
2 A2
: (2) Tokyo
(3) qmE+.2
’ (3) Tashkent
(4) @ .
(4) Kiev

(5) 2L A& 241 "rEa

(5) Not uttenlitgd I
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£

86

R T 10%%%@33?{3 R T 15 % wig
“ﬁm‘wuﬁﬁm% .

) 50%

@ 25%

@) 35%

@) 40%
(5) W =/ Sl |TEd

qﬁ%{-ﬁmﬁlq{7%%?ﬂﬁiﬁﬁﬁ 15 W@
TR S, SH SR W) 12§%mf§$atm 8 uTE

¥ TURO S W T 32:50 A0 7, @ vl (T )
=¥ ‘

1) 3,250

(2) 3,000

(3) 3,060

(4) 3,120

(5) I AL < AT_A

ATH wd H 15 R & qon B 36 w1 9 20 £ &

T R THT | A q7 e W 5w e 4 R
T FQ T, aﬁﬁwmmwﬁt @ W@ 8 2

1)
(2)
(3)

(4)

= &= B=gle

(5)

9
4
¥
g

U AT f A qen e § w3 - 2 <1 T
2 af% 39% w4

I ATHBA § 5 - 9 T UM B |
maiﬁiﬁ's'ré(tﬁaﬁ)%

1) 13
2 e
@) 8

4 9

—® I T T =

ARA'V|/C3/Page 19

Oranges are bought at 5
6 for ¥ 15. The profit percent is :

1) 50%
(2) 26%
(3) 36%
4) 40%
(5) Not attempted

If the simple interest on a certain sum for

15 months at 7—12-% per annum exceeds the

simple interest on the same sum for 8 months at

125% per annum, by ¥ 32-50, then the sum (in
T)is:

(1) 3,250

(2) 3,000

(3) 3,060

(4) 3,120

(5) Not attempted

A can do a work in 15 days and B in 20 days. If

they work on it together for 4 days, then the
fraction of work that is left, is :

(1 %
@ %

@) 1l0
@) 115

(56) Not attempted

The ratio of length and breadth of a rectangle is
3 : 2 respectively. The ratio of its perimeter and

area is 5 : 9. The breadth of the rectangle (in
metres) is :

(1) 13
2 6
@ 8
4) 9

(6) Not attempted

1% T4 & {10 T | SPACE FOR ROUGH WORK

5 for 10 and sold at



W
s

90.

91.

92.

93.

DLop A e Al p % aUE §3-8-98 Uil

it 2, @

i é“+11§-!4|21
W%:
1 6
2) 3
@ 4
@ 5
(5) I T T 91Ed

T TEH B TH T B 25 W 0T FY B HaT T |
o ¥, SE WS W 52 W o e Rl g
T, W THEE ¥ 324 e W gen | o
= T geT o

1 52

2 12

@ 15

4) 25 _

(5) S AE ¢ AR

R n HE THT G B, @ wEAAR wEn
S % S (08 - n) w2a fwifm 2 2

(1) .18

(2 3

3)

4) 12

(5) 3 48 &0 9Ea

y,(x+3),%mm%amy=8%aax=’l% |
x=2%fau yFam w1 2 2

(1) 16

(2) 6

(3) 10

(4) 12

(5) I & 1 =R

ARAM/C3/Page 20

90.

91.

92.

93.

If [p] denotes the greatest integer less than or
equal to p, then

[~ (]2:' + [4 g] + (2]
is equal to :
1) 6
(2) 3
3) 4
4) 5
(5) Not attempted

A boy was asked to multiply a certain number by
25. He, by mistake, multiplied the number by 52
and got the product which was greater than the

correct product by 324. The number to be
multiplied was :

1) 52
(2) 12
3) 15
4 25
(5) Not attempted

If n be any natural number, then by which
greatest number is (n3 — n) always divisible ?

(1 18

(2

3)

(4) 12

(56) Not attenipted

y varies directly proportional to (x + 3) and y = 8
when x = 1. What is the value of y whenx=27?

(1) 16
(2) 6

(3) 10
4) 12

(5) Not attempted
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94, TH U A U N H© Rt Pretrn Rrad 3 fysor oy
T A WA W 25% TN R | o A sy g
a1 QY <l W1 A g R

(3 I T [ T

95. TS E W 24nﬁ./@t.ﬁnﬁ%mr§%3n‘i.f&,uﬁr

FHS R A et A e e 2 | T & T
7% forett ot 7 s a0

94,

95.

B .

A milkman mixed some water with milk to gain
25% by selling the mixture at the cost price. The

ratio of water and milk, respectively, in the

mixture is :
I 1:4
(2) 5:4
@) 4:5
4) 1:5
(5)

Not aittempted

A bus moving at a speed of 24 m/s begins to slow

at a rate of 3 m/s each second. How far does it go

before stopping ?
1) 961,
(1) 96m
(2) 48+, _
(2) 48m
(38) 60, ;
- (3 60m
(4) 724,
4 72m
(5) I 7 & == . _
(5) Not attempted
96. A3 T 85,000 7 W wH =R I R | g
T % =M T 42,500 % @Y B ¥ SR ¥ fier [96. A began a business with & 85,000. He was joined
T AR T F e ey 3:1% 313?!?{ ¥ st afterwards by B with = 42,500. For how much
T, 91 B fRay g ¥ F—(,,Q m @12 period does B join, if the profits at the end of the
year are divided in the ratio 3: 1 ?
1) 8um
(1) 8 months
(2) 4um
(2) 4 months
@ 5w (8) 5 months
@ 6um (4) 6 months
(5) I T& & wmmy (6) Not attempted
"'\RAM/C3/Page 21
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97.

100.

U SR o it @ 76% @ W R | 3geh)
mﬁg()(z‘agmﬁ%ﬁﬁagmﬁ@éﬁ‘ﬂ]o%ﬁ
T W A R | 3N F=a ¥ sl gfy .

50%

10%

3)  25%
ENES IS

T Wipa west K geht 7 15 Wem w, w2 @ 5
ST 2 1 38 R g ¥ 1 en w, denett gy
18 w2 9T @ | SRt Gt § gt fraeht gt § o
() 8

2 4

@ b5

N 3

4) 37

B I

6 .
(5) I & A1 =R

®: @AW a, b, c,d, e, f 30 THX & 6 ab = 1,

bc=%,cd=6,de=2?l%nef=%%I(ad:be:cf)
HHAARTE ?

Ay 72:1:9

2 4:3:27

3) 6:1:9

(4) 8:9:9

(5) 3 T &A1 =Ed

A F1 AHEA F1 5%, B H AW *F 15% F SUSK B
7 B &1 AWeAl 1 10%, C H Imeh *F 20% *
a2 | 372 C i smEdt T 2,000 %, @ A, B @1 C
%1 wmaeA %1 AHd (T §) B

(1) 18,000
(2) 6,000
(3) 9,000
(4) 12,000

(5) I A& &1 HrEd

97.

98.

99.

100.

B |

A man spends 75% of his income. His incop, i
increased by 20% and he thus also increaseq hig
expenditure by 10%. His savings increased by -

(1) 50%
(2) 10%
3) 25%

1

(4) 37—2—%

(5) Not attempted

When 15 is included in a list of natural numbers,
their mean is increased by 2. When 1 is includeq
in this new list, the mean of the numbers in the
new list is decreased by 1. How many numbers
were there in the original list ?

(1) 8

2 4

3 5

4 6

(5) Not attempted

Six numbers a, b, c, d, e, f are such that ab = 1,

be = —;—, cd =6,de =2 and ef = % What is the

&

value of (ad : be : cf) ?
1 72:1:9

(2) 4:3:27

@ 6:1:9

4 8:9:9

(5) Not attempted

5% income of A is equal to 15% income of B and
10% income of B is equal to 20% income of C.
If income of C is ¥ 2,000, then the sum of the
incomes (in ¥) of A, Band C is :
(1) 18,000

(2) 6,000

(3) 9,000

(4) 12,000

(5) Not attempted
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